N

M U LTI B R ACKET S

M Motorized Floorstand 160 kg White

® Gulvstativ

® Bodenstander

® Emdameédia Baon
® Floor Stand

® Soporte de suelo
¢ Lattiateline

¢ Socle au sol

@ Supporto da terra

@ Gulvstativ

® Podstawa na podtoge
® HanonbHas noacTaBka
® Golvstativ

® Zemin Sehpasi

® % 52

www.multibrackets.com



www.multibrackets.com




- i
u ﬂ
1
A (1x) B (1x) C (1x) D (2x) K (1% SW 6
M8x16 8 M5x6
Q) i
) = 7
E (4x) F (4x) G (4x%) H (8x) | (4x) J (4%)
2
< % %
B (2x) C (2%) E (1x)
a M10x25 | b M8x20 | C mex18 |d 8 |e 6 f M8x16
| ® i 5
(4%) (4%) (4x%) (6x) (4x) (2%)

8 M8
&
(8x)  K(4x)
OO0
SW 12 Phillips head sw g

8

I
N R |

www.multibrackets.com




e
1.( * G
.
2
CLICK

www.multibrackets.com



N (@) \
SW6
1. Hang the Wall mount on the Mobile stand.
2. Tighten the screws.
S

A Lo
W 5/6/8 VESA < 900 x 800

350-900
o
o)

800

www.multibrackets.com



1. Check mains voltage. The mains voltage should correspond
to the one specified on the rating plate located on the left side
of the frame.

2. Plug the enclosed mains cable into the power socket (B) on
the left side of the wall mount frame.

3. Plug the other end of the mains cable in the grounded outlet.

4. Connect the remote control to the socket (A) on the frame.

5. To raise the wall mount press the button A (UP), to lower the
wall mount press the button W(DOWN) on the remote control.

Lifting function does not work >> Folowing steps should be taken:

1. Check the power cord for any possible damage.

2. Make sure the power cord is properly into the socket (B).

3. Check the fuse in the main socket. If it fails replace the fuse with the same type as the original (1,6 A).
4. Check the connection between the remote control and wall mount socket (A).

www.multibrackets.com




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

